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Zeichne den Graph mit Hilfe eines Steigungsdreiecks am Schnittpunkt mit der y-Achse:
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Zeichne den Graph mit Hilfe eines Steigungsdreiecks am Schnittpunkt mit der y-Achse:

1 a) y
3

2

1

0

-1

-2

-3

-4

-5

-6

-7

-8

-9

x

-4 -3 -2 -1 1 2 3 4 5 6 7 8

S
5

3

f(x)= Schnittpunkt:

Horizontale Schritte:

Vertikale Schritte:

x-43
5 S(      )0/-4

5 nach rechts

3 nach oben

b) y
2

1

0

-1

-2

-3

-4

-5

-6

-7

-8

-9

-10

x

-4 -3 -2 -1 1 2 3 4 5 6 7 8

S
4

-3

f(x)= Schnittpunkt:

Horizontale Schritte:

Vertikale Schritte:

- x-23
4 S(      )0/-2

4 nach rechts

3 nach unten

2 a) y
1

0

-1

-2

-3

-4

-5

-6

-7

-8

-9

-10

-11

x

-4 -3 -2 -1 1 2 3 4 5 6 7 8

S
5

-6

f(x)= Schnittpunkt:

Horizontale Schritte:

Vertikale Schritte:

- x-46
5 S(      )0/-4

5 nach rechts

6 nach unten

b) y
5

4

3

2

1

0

-1

-2

-3

-4

-5

-6

-7

x

-3 -2 -1 1 2 3 4 5 6 7 8 9

S
6

-5

f(x)= Schnittpunkt:

Horizontale Schritte:

Vertikale Schritte:

- x+25
6 S(      )0/2

6 nach rechts

5 nach unten

Powered by TCPDF (www.tcpdf.org)

https://www.matheaufgaben.net
https://www.matheaufgaben.net/mathe-online/
https://www.matheaufgaben.net/arbeitsblaetter/
http://www.tcpdf.org

